Supplement 6

Comparison of:
Unsteady and steady solvers
Unsteady physics and steady physics
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Unsteady solver residuals — Top row: residuals in function of time. Bottom
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Comparison of unsteady solver residuals (top row) and steady solver residuals (bottom row)
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Unsteady solver Qol in function of time (top row) — Comparison of unsteady and steady solvers Qol in function of iterations (bottom row)
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Unsteady solver residuals — Top row: residuals in function of time. Bottom row: residuals in function of iteration number.
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Comparison of unsteady solver residuals (top row) and steady solver residuals (bottom row)
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Unsteady solver Qol in function of time (top row) — Comparison of unsteady and steady solvers Qol in function of iterations (bottom row)



